EARAROBREBRT —5 XN—ZXBISH—F 202358218 (B) 4EHEE2H

m%%% C1 UY3>%R4mt BRI
[xE€] 1%&:370,000H  23&:118,000M  3#&:67,000H  43%&:44,000H 5 3&:30,000H
& % B FRERS /M M BF (T2) I4 L (BE) | BEIBA | B3F | SIEH | AR | AE | B FIR) / BE / £ERS
NN LI : - HETTE (K™
118111 HNANILT— 4 4 54.0@@ 1.(2_4).3 2-2-2-1 |38.8 3 :1:&25) ?E%ﬂ@ ({£B)
R:O—IVIUY B:URYT7—hk #HBEIT7—L
S~ L0 == HAPEA : -10-10- - FHEBALE (2%
2 2 ITAYVEITSR # 5 56.0I_ (11214/26) 10-10-10-9 | 37.2 2 (4_732) A
RiIAvr7ROY B IAYYNV—)L SERIS
_ MR . 24 _ EDEN (B8
3Ry 3| =Fh/3-0 R 1(12/42‘)7 R ° (4_134) Fcbtie =
RiPISANIVE B:Yy—FVITR-F KBRS
S— allliEs : —6-5- - FEBT (£
4179 ISHIFT4— % 6 20 1(7212? 7-6-5-6 | 38.7 8 (:1?;) s =
R:vEIDA— B:RA—K~Fa2TFL I3 U VHERS
- Nana SAEE : -4-3- - WFEX (£5)
58|12 F=HoEYY 4 ED 1'(225)'2 AR ! f;) EHEE%% B
R:T—)VRI—2 H:ZRyEOL—Ya EQKR BB
g S TS : -7-6- - HETR (E8)
] 4| FRADF =y 4| 1= 1(.12/52.)3 6-7-6-5 | 39.2 1 (4:’:58) ﬁﬂgsz
R:grvAavo #:A-Frvavhk RIFERRUS
wo e g il sEE : -1-1- - SERE (kS
7 17|10 R N—H—1L s | TUE [ A B o= kR Y
Rid7rEYRX B:I74—I)LRRZ—% HIEZ 7 —L
S b S : -8-7- - HET®E (£8)
8l5l5 | Ty RTTAL 6 | BEA 1(.12/52.)4 9-8-7-7 {39.0 1 (5+016) B
R:J4 I RhD—bEY BTy RFaAR #HBEI7—L
N o P Al : -9-9- - FMEREF ()
956 O—RIJLEZR V5 =l (12215/29) 8-9-9-8 | 39.0 9 (SS; e =)
RIRITIATAwIVxUT7— B FVVa TATAT7—1A
S BEE—E : -12-12- - JIIEZEF (158)
10 8 ITAYS4Y 4t 5 i 1.(256).9 12-12-12-12| 38.8 10 (4_729) e
RIRIVIATAwIDxUT7— B:IIINDR EllEe]
< . RS : -11-11- - HEF® (k8
N B o 4 P CEEIEN N N =
R:TALhifk—L §:5vF—EIRU— TRES
= v 6 | lIEHE 1:27.4 5-5-8-10 |41.1| - 7 | 453 |WFEX (ER)
121111 LS X 56.0 (172) () |BEHEX
RZAZXADA—=RAI 1A B:AXAZVIR 735 Riis
@ 1—F—&BIEL
1T=zr= 10,11,3,12,1,4,9,6,5,2,7,8
23— — 10,11,3,12,1,9,4,5,6,2,7,8
Sal=zr= 10,11,12,3,9,4,5,1,6,2,7,8
43— — 11,10,3,12,4,9,5,6,2,1,7,8
o ILRE
B B 1" 520/ JA R 2-11 540M4 % 5E 2-8 1,100 3EE 2-3-11 3,050
B B 1 180M9 3-1 5604 Fs E 2-1 1,660H4 3EH 11-2-3 21,0804
2 180H 2-3 570 Ba 11-2 3,980M
3 170H

ABIC OV TRUTEREERRODDZE. THRIIZEL.



